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MATHECMATICS By Pradeep Sir

0 l Q. 1) Simplify the following eﬂession. .
£0+150f4+[11x4+4of{4x2—
___.-""'i-t-[uxw -Y ‘T'D//? — B-1D) =
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Q. 2) Find the value of the given expression 14 -7 x 1 +

3 —|18—{18 — (7 -7 —32) N
f¢u ¢ siw® @1 9§ 14+7x1+3— (18-
(15-(7-7-2)}) B
. . ‘
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ONE "':,—Pf\ s Q. 3) Ram bought a cell phone and paid 30% less than its
original price. He sold it at 50% profit on the price he
= had paid. The percentage of profit earned by Ram on the

P )L ' ® __U__..-)([ R original price was: S
P T A U A9 BIF W 3R ISP gd Sid A 30% B

YA A 391 3/ U1 gRT YIdHE &t T3 SIAd )
soeeamwaa%mgﬁqaaﬂuawmm T BT
ﬂlaﬂlatﬂz

R P Sp a) 25%
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D
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Q. 4) A watch is purchased for Rs.3,200 and sold for
Rs.2,700. Calculate the percentage loss up to two places

of decimal.

U® TSl 3,200 3UL & @WAS! STt & 3R 2,700 TUA H <t
WTdl 2| SUHEd & g R & ufawd g1f= &t o= $3
ﬂ

(b) 16.50%

(c) 15.18%
P (d) 16.12%
Cpe SIE
2200 0,300
L’-—_—'J (9 ‘QZS‘I\
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Q. 5) Three successive discounts of 10% are available on
the sale of a washing machine with a marked price of

6? = Rs.55,000. Find the final selling price (in Rs.) of the
washing machine. s
- v ¥. 55,000 & 3ifba e areht R weft #t et w 10%
cepoot 18 x A% ¢ 2 # 217 B 3¢ IUa 81 aTEnT TIiA @1 st fawa
Too 100 |00 ﬂ‘)iﬂﬂoml

10085 4" S S
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Q. 6) A sum of money at simple interest amounts to
Rs.1,200 in 3 years and to Rs.1,350 in 4 years. The sum is:
WIYRY 19 TR TS Y-RI 3 96 | 1,200 F9F 3 4 quf
# 1,350 ¥Ud & &Il 81 AT & ""
(a) Rs.850

(b) Rs.450

(d) Rs.750
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Q. &) What smallest positive number should be
subtracted from 2 and 3 so that 4 is the third proportion

to them?

2 IR 3 # | o9 A ¥ad B YIS FWI UeTg Al

~a1feT A1fd 4 ITST AT U 81?2
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Q. 9) In an examination of 7 papers of 100 marks each,

¢ | | there were mathematics papers, 2 3 English papers and 2
V‘%"“L\. —AXUs = (3§ Hindi papers. D gets average marks of 45, 55 and 60 in

ltingd =0 Qx62 5 T s wme

3 65 a) 54.1

- / ’> s" Z. ‘/./n (d) 55.6

mathematics, English and Hindi, respectively. What are

XSS = |10 ﬁﬁ‘ﬁé?gfﬁﬁgféﬁépﬁgmﬁﬁﬁmm 2 it

asammzﬁegasawmoﬁnﬁm,maﬁzfem
- | 80 PHT: 45, 55 3MX 60 & 39d 3P fArerd g1 wia Tur sitwa
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Q. 10) Ramesh alone can complete a work in 24 days.
Ramesh and Somesh can complete it in 8 days. How long

will Somesh alone take to co Iete the work?

TAY B amfaﬂu W'%ntﬁm HEL L
3R A ﬁa’fﬁwaﬂ g1 A IFPa Bdrd
PUEZEE

(a) 10 days/10 ﬁﬂ*

(b) 14 days/14 &A™

(JREX-EVA 5

5= —&2‘3 (L D
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Q. 11) 15 men complete a work in 10 days. 15 women
complete the same work in 12 days. If all these men and

women work together, then the number of days required
to complete that work is:

153{!3!& & 3! 10 =1 # | 15 wfgame
:ﬁzﬁﬂ’fﬁ gﬂﬂﬁﬁmﬁgﬂam
TS 91y $H a’rtmmaﬁtmmﬁﬂ
e f&= @i

(@) 6— N (b) 4—%
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Q. 12) In 1 _km linear race, P beats Q by 120 metres or 30
e sec. What is the time taken by P to cover the race?

1 forft 91 MR ds &, p,  H1 120 Hex a1 30 b |
. R & T 3171 P I IS T FA Qﬁ%ammwm
‘ (a) 235 sec
b 2405ec
: 92_5. (d)ZSOsec
! 20
— 10 322G

-—-—-’"
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Q. 13) A circular running path is 1452 m in
circumference. Two men start from the same point and

walk in opposite direction at the speed of 7.5 km/h and 9
km/h, respectively. When will they meet for the first

time?

@1 gRfY Hiex
gﬁ’; 3; ma!fﬁwmﬁ g aﬁ?ﬁ%ﬂ: 7.5%%31}3/"%3 qa%;?gg

fet /der St nfa A fArfia e A gad 81 3 Ugell IR Fa

EENAR [
' 17 min

g\z& Ml"”l
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14) Expand and sumpllg the algebraic expressnon
77 o> %ﬂﬂhﬁf?ﬂ Qﬁ'{

< = 3
(x-s) + X+ +yx o
‘ -
Fr 25 - (© (x2 + 17)
i M E ]}é +‘§ +’i+%:% (d) 2(x2 - 5x + 17)

2
2o (xS 13)
 S—
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Q.15)if (a+ b +c)F 14, and (a® + b* + ¢ — 3abc) =
find the value of (ab + bc + ca)

a) 65 -
(e ]
C) b4

(d) 60

03 o - Bobe = (@t b0 € o]
—eT : T L) 36

@+bc_@>t§j 2 £3 o




MATHEMATICS By Pradeep Sir

Q. 16) The sum of the cubes of two given natural
numbers is 9728, while the sum of the two given

numbers is 32. What is the product of the two given
numbers?

3 Wpite vusd & vl du s2s § wilh 38
g@ﬁm%%lﬁﬂ?ﬁﬁﬁﬁwaﬁ

a) 160
rego §el2

— (C) 200
(d) 320
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Q. 17) Triangle ABC is circumscribed aroud circle D.
Segments AQ. BR and SC measure 132, 10.5 and 6 cm,

respectively. The %’e_rimeter triangle ABC is: of

fAYs ABC 39 & & IR 3R uRarfed 81 @8 AQl 18R
aﬁ?qm HIY T 132, 10.5 3T 6 A 81 AYS ABC
| %:

a) 15 cm
—

c 29.5 cm
(d) 108 cm
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Q. 18) In the figure, PT is a tangent. If TP = 12 cm, PB = x
cm, then find the value of x.

R & pT v wef Y@r 21 afe TP = 12 A, PB = x AL,

dl x &1 °14 J1d SIfU| ZL/
ia’l 7i i* Pe~(x+ (>+7)
(Z)iw PR =X

‘pTzz P RAP B

[yy = X L:C'F:l‘)
1(277)

MY = QX
-l
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Q. 19) Find the value of x iun the given figure where TP
(ta‘r;%ent onpointT)=15cm,PB=2x+ 3 cm, PA =9 cm.

ATHId H x BT A FTd D¢ Sl TP TR WY
@0 = 15 VAL, PB = 2x + 3 AH, go= 9 AHI B

(a) 18 cm/18 JHI PR =gCM

(b) 21 cm/21 |t

(c) 11 cm/11 |1

(d) 15 cm/15 JHt
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Q. 20) If the volume of a cube is 4096 cm3, then what is
_ i the length of the side of the cube?
Clea. (v = ©% qﬁwagmmqwssﬁdhé,a’rmﬁgmaﬂ
mm P

0% = ea
: C cm
o
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Q. 21) What is tang?
tang?m'e

cos @

1-cos @
cos @

(a)
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)o]2 sQ;A 7.[—2\&-952;3*_3)&“

o T TR T

—
Q.22)If A= 22.5°, what is the value of

o 10V 2sinn 24 — 7V2cos 24 + 9tan 24 )?
gfe A = 22.5° 8, A SHST U HT 22

( 10\/Zsinn 2A—-7V2cos2 A+9tan2 A)?
(a) 6
RE

(d)12
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24) Study the graphy carefully.
umﬁ BT HFYAD AT B |
The decrease in imports in 1976 was what percent of the
imports in 1975?

1976 § Tard | HHT 1975 H TATd BT fhaar ufawra di?
(a) 48.07%

(b) 49%

(c) 50%

(d) 48%
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Q. 25) Study the given table and answer the question

No. of that follows.

Students &1 g afereT &1 SremgH &Y oY Fufafea uy s 3
Less than 10 The table shows the marks distribution among the
¥ e than 20 students in a class. .
R dIferT U H& | BTE1 & did 3] & faavor &) gufdl 21

€SS than How many students scored more than 40 marks?
Less than 40 e faenfat A 40 | aifts sie ura fad?
Less than 50 (a) 3 (b)5
(c) 2 (d) 4




